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1. 50 &

(1) o =455 [MPa] 10

(2) o0,=947 [MPa] 10 A

(3) e= 02 (20%) 10 A%

(4) o= 0623 « - 210 5

(5) D=41.0 [mm] 10 A
2. 505

( 1 ) _ (l—a)M?—bWz . RC — m 10 ‘ﬁ

(2) FAB = —(l—a)Vlzl—bWZ N FBC = ——an-;bWZ N FCD = W2

_ (—a)Ww—bW,
(3) Mpp=—-77"
MBC = —Wl—-'-b%x + Wla

l

MCD = —Wz(l +b —X)

(4) 7z ="2p3 £ 10 A%
12
(5) 05 = 222((1 — Q)W, — bW,)
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BAFE—ER dQ=dU+dW - - -6 4
O: #xt . ©@: TE - - 648
Wi, = flzpdV v Wty = _flz Vdp + + 6%
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TVL—%T 4 A7 DIRSE tp=194.1[C] - - - 10,8
KR tw=25.8[C] - - - 10.%
/rll_f';
HEWNE 2L X —D b Au=60[kd/kg] + « + 10 /%
= bt —0&bE 45=0.614kJ/K] -+ - - 205
Jy
1Y A7 VB0 OBEE Qu~l11.1[kJ]  + « - 8 4%
1% A 7 vl ot W=289[kJ] -+ - - 4%
BhFR g =0.72 (72[%]) - - 88
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1.

40 A
(1) p=910[kg/m3] . s=091 =+ - - 10X
(2) po=9.86x10*[Pa] + + +10 &%
(3) pg=49%x10%[Pa] . p=50x10°[Pa] - - - 10/
(4) m=966[kg] - - +10
.20
T=435[N-m] =« - 20 %
. 40 AL
(1) v,=20[m/s] . v, =80[m/s] =+ - -20 %
(2) h=0243[m] - - +20 &



